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Q1. Examiner's Comment:

This was a question on state-space observer design. There were not many
serious attempts at the very last part of the question, where the real system
differed from the system that the observer was designed for, but the earlier
parts of the question were well answered in general.
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Q2. Examiner's Comment:

This was a question on nonlinear systems, which required sketching of state-
plane trajectories as well as a discussion of the uses of linearisation. This was a
deliberately straightforward question, as although state-plane trajectories have
been an integral part of the lectured material they have not appeared in the exam

in recent years or, indeed, in examples papers until this year. The question was
very well answered overall.
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Q3. Examiner's Comment:

This was a question on observability and controllabilty for an op-amp circuit.

It was very well done on the whole, with no particular stumbling blocks. A
number of candidates wrote notes complaining about the inclusion of electrical
engineering material (for the initial \show" that the system was described by
the given transfer function), although it required no more than the ideal op-amp
material in Part IA, and similar material does appear in examples papers for
this course.
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Q4. Examiner's Comment: | |
1
|
A question on root locus which was clearly too hard. Candidates were asked to sketch
representative root locus diagrams over a range of a parameter, and the arguments required for a
complete solution were rather subtle. Nevertheless, candidates did have many opportunities to

show their understanding of the underlying techniques, which was generally sound.
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